1 Select the odd sentence pattern from the following

{A) He ate the cake L/(ﬁ}: This shoe is larpe

{C) &he sang a song (D) 1 wrote a letter

3, Find out the antonyms for the underlined word.

Some people mess up their houses with ever lasting vubbish.

1. Lasting 2z Temporary
3.  Changing 4,  Endless

5.  Eternal

{A) 3, 4and5 (B) 1,2%2and4

W 2 3and s . ‘u‘}Dj‘ 1,2and 3

3.  Change the fallowing into positive degree.
This temple i the biggest in India.
(A)  This temple 12 as big as that temple
‘V,(BT Mo other temple in India is 23 big as this temple
(C} This temple 15 very big

(I Wery few temples are as big as this temple

4 Identify the compound sentence.
(A The box is too heavy to carcy
(B} Owing to illness Rajan did not appear for the examination
(C} Ewven though he is poor he donates generously

y’ We must eat or we cannot live
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5. Salect the correct suffix to frame a new word. Using the given word "Purposs’,

(A} able ity
\}B}' less (DY ness

5 Choose the correct antonym for the underlined word from the options given :
His ways of presentation is Unigue.
\jfﬂ commaon (Bl comparable

. (C)  indifferent (D) wreng

7. Which one of the following 15 a correct sentence?
(A) I had been living here since 1995 VQFf]ﬁ I have been living here since 1995

(i1 T were hiving here fram 1995 (N I was living bere since 1995

B.  Pick out the statement that doesn't match with the given question tag.
(A)  Wait a munute, can vou?
{#y Push the door to the corner, can you?
{C)  Get the guide who can help vou, can you?

| V{PF Hawve some more rice, can you?

9. Choose the correct synonym of the underhned word.

The rules are made to be epforced.

(A} replied v{aﬂf applied

(C)  zsupphed (DY engraved

HLE12 4



17 1 the instructions but 1 them.

(A)  will read, did not underatand (B} will not read, will not understand

\/{Eﬂ have read, do not underatand (T  wead, has not understood

18. Match the corvect noun form for the verb 'disturb’.
(A)  disturbing V{‘Efﬂ disturbance

(Cy  disturbed (D) disturbingly

19. Select the correct noun form word from the following verb ‘frighten’.

(A) fighting L/CBT fright

(C)  Dghts (I frightening

20. Change the following verh inta noun form Dis.

Ay Deadly (B} Dead

(C) Dying ' L;pj? Death

21.  Fillin the blank with suitable article.

poor alwaya work hard.

\/{ﬁb The (B) A

() An (D) Mo article

HLE12
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22, Find out the appropriate comparative degree for the [ollowing sentence.

Thiz is the best response.

(A} This and that are better responses  (B)  This responae 13 better than that

(C) This 18 a good response .‘_/Hjj This 1z a better response than any other
23. He- ———— ill since Monday and so he the meeting.
\}M’\ has been, could not attend (B) s, could not attend
() was, cannot attend (I} had been, cannol attend

24. Comprehension :

Language is the light of mind. So, is the English language is today's context. But ever since,
we have become free, some peaple have protested against the retention of this language, which

has pros, and cons to it
@ Pros and Cons’ means
(A} Dreams and reality (By Like and dislike

(Cy Dhfferences and similarities Ljﬂf Advantages and disadvantages

25, Identify the sentence which doas not contain an adjective.
{A) Sheisa clever giel {By [Itisa pleasant evening

(C) He is an honest man J’D‘/; play chess repularly

26, Find the sentence in which the underlined word 15 used as a verb.

{A) [have an English guide (B1 Where is the tour guide
y Parents guide thetr chaldren (I¥} We are in a gudes camp

HLE12 8 I
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8.

Match the following words given in Column A with their antonyms in Column B and select the

correct answer from the codes given below :

Column A Column B
(a) Conflict 1.  Empty
{b) Petnified 2. Peaceful
(¢} Fiery 3. Asgree
(dy  Full 1. Reassure

(@) (o) f(c) (d)
(A 1 2 3 4

B 4 3 1 2

m 2 1 4 3

Identify the compound sentence.
(A} Deapite her poverty, Anuja stood first in the examination
(B} Althowgh Anuja 15 poor she stood first in the examination

{C)  When Anuja is poor. She stood first in the examination

V;D')W Anuja was poor yet she stood first in the examination

29,

30.

ldentify the incorrect prepositional phrase from the options given below :
Thera 18 a car-park.

{A) near the railway station (B} in front of the hotel
(Cy for the show-room _‘}D:T‘I againat this building

Fill in the blank with suitable article.

Man, thou art wonderful animal.
{A) an \/{B} a
{C) the (D) noarticle
] ' HLE12
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31, Chunge the adjective "quiet’ into adverb using the given wards,

wﬂ quietly (B) quieten

() quietness (D quietism

32 Which one of the following has a correct infinitive?
L{}n I had rather play than work (Bl Trather play than work

{C) 1wish to play Ehaﬁ wark M) I am playing than working

33. Match the following phrases given in Column A with their meaning in Column B.

Column A Column B
(a) Plenty of 1. Regrat
(b)  Waorry about 2 Alotof
{¢} Ina half 3. Hest
(dy Take a vacation 4. Inanger

(a) () () (d)
A zo1 a3
® 3 1 2 4
C 4 2 3 1

m 1 4 2 3

34. She as she into a taxi.
{A) fell, is getling (B fell, has getting
\/[,ﬁ) fell, was getting (D) falis, will be getting

HLE12 10
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45.  Fill in the blank with correct ‘Homophone”,

We were surprized to know his

(A)  Desent

(B} Descent
Jﬁ'ﬂ Dissent

(D) Descented

46.  BSelect the appropnate active voice for the underlined words
He must be written to,
(A} must be writing
{B] must wrtten

() must have been writing

b,ﬂﬂl must write

47, Fill in the blanks with suitable participle.

Many we were freed from anxiety,
(A)  were arriving
(B) had arvived

,‘_/{C; having arrived

(I had been arriving

Y 13 HLE12
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8.

48,

50.

Select the correct option to complete the given sentence,

The officer laaked

i

(A} tothe matier (BY at the matter
(Ch~1nto the matter (D} 1in the matter
The bght ——————aff while ] ————

(A} goes, wrote (B) went, am writing
(Ch went, will write . /[Iﬁ] went, was writing

Choose the correct antonym for the underlined word from the options given :

Thew tried to harness the ultimate secret.

(A} Gather L/{B'Jl Release

{C) Win (I Discover

Find out the antonyms for the underlined word.

Hia look is Whimsical.

1.  Modern 2. Unrealistic
4 Imaginary 4. Retional

. Fantastic

(Al 1,2 4and5 V,fB}I 1,2 3andh
(Cy 2,3 4and5 M 1,2 3and4
ldentify the word which is not a verb.

(A} prepares L;B(I angry

(C) rises (D) plays

HLE12 14
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53. Match the following phrases given in Column A with their meaning in Column B.

Column A Column B
(a)  Depend on 1. To pay a lot of attention to something or
somebody
(b}  Attend to 2. Tosit or lie down in a warm and protected
place
{¢)  Fussover 3. Relyon
{d)  Nestled up 4. Make much of things of no importance

fa) b (&) (d

Vp(ﬂal-iz

By 4 3

[ 8]
—

§4. Which of the following sentence is correct?
L}"‘Eﬁ Few people knew the way didn't they?
8% Few people knew the way did they?

(C) Few people knew the way don't r.h;::.r?

(DY Few people knew the way do they?

55. Identify the simple sentence.
{A) If you permit me [ will go away (B} You permit me and I will go away

(C) [ will go away if given permission y“ With your permizaion I will go away

A 15 HLE12
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6. Match the fallowing worda given in Column A with thewr Antonyms in Column B and select

the correct answer from the codes given below

Column A Column B
(a) Ornamented 1. Darken
(b) Isolation 2 Limited
{¢) Infinite 3. Unification
(d) Dazzle 4. Plain

(@) (b) f(c) (d)

J‘ﬁ 403 2 1
1 2 3 4
© 3 4 2 1
D 2 1 4 3

57.  Pick out the sentence with SVIODOA pattern

(A)
(B)

He gave her a lot

Lastrnaght [ had a bad dream

(Cy Lucy presented the voungest one (puppy) to her friend

\}m’ Henry gave her a pen yesterday

58  Comprehension :

India possesses a variety of forests and natural vegetation. We have tropical Evergreen forest

in Western ghats and semi Evergreen foreat in Orissa.

@ : Which of the following statement is not true?

v

There are no foreats in India

{BY  Orissa is rich in gemil Evergreen forests

(C) Western ghats is famous for tropical evergreen forests

o
HLE12

India is rich in natural vegetation
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59, Pick out the sentence which does not have a verh

(A} He drives careiully V/('B']‘ My new, pink purse

(Cy  He opens the door (D} Dan't make noise

60.  Fill in the blank with suitable prepositional phrase given balow :

dogs when you enter a stranger’s place.

(A} Aware of L/‘m Beware of

(Cy  Careful of (I} Assure of

6l. Select the plural form of "Kmfe®

Ay Knafes ,_/{ﬁ]l Knives

(C)  Knaifa () Kniea

G2 The origins of cricket are obacure and there are several theories on how it started. The
shepherds used to play it, with one standing in front of the wicket gate to the sheep fold and

another bowling a stone or something at him and he would have to hit it with his crook.

Here crook means
{A) astaff (B) & half staff
Vt,tzj” hooked staff (D) iron pole

63. Choose the correct antonym for the underlined word from the options given :

He possessed great innate wisdom.
(A} in born (B) unnatural
\/jm’ acquired (D) artificial
A 17 HLE12
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64. Choose the correct question tag :

There are some late bloomers in your group.

) aren't they? \/@) aren't there?

{Cy isn'tit? (D) are they?

65. Fill in the blanks with the correct verb choosing from the given words for the noun

‘examination’.

They the knowledge of the candidates.
M examine My examinahle
{C) exam (I} examiner

66. Match the following words given in Column A with their meanings in Column B,

Column A Column B
{a) Inflation 1.  Unforgettahle
{b} Enhanced 2. Increased
{c)  Advent 3. Ingrease in prices
(d) Indehble 4. Arrival

@ b (& @
JAY 3

B 1 3 4 2

=2
-
[

c 4 1 3 2

D 4 3 2 1
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69.

Kl

7L

(rive the suitable order of article in the blanks of the given passage and choose the correct code

given below :

Rama entered shop. owner received him. He looked at
things in the shop. Finally he purchased - — umbrella.

(A) the, a, a, an W a, the, the, an

{C) a,an, the, an (D) the, a, an, the

Fill wp the blank with suitable preposition given helow as options.

Nobody knowa the answer Murali.
(A) for \./Fm‘ axcept
(C) against (D) than

Identify the degree and choose the correct anawer,
Tokyo is larger than any other cities in the world.

(&)  superlative degree L}B}“ comparative degres

(C)  positive degree (I none of these

[dentify the degree and choose the correct answer :

Malacea 13 the oldest town in Malaysia.

{A) positive degree (B) comparative degree

\}Gﬂ‘ superlative degree (D} none of these

Give the smitahle arder of articles in the blan!ts of the given passage and choose the correct
code given below :

Brihadeeswarar temple or ———————— hig temple as it 15 commaonly

called by ————————— natives of Thanjavur i ————————— architectural marvel of

immense glory.

(A) The, a, a, the (B) The, an, an the
{C) The, the, a, the \/CB‘}' The, the, the, an
19 HLE12
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T2,
He
(A}
(C)

Fill i the blanks with swtable options

the room and down in the chair.
crossed, sits {B] erosses, sat
crosa, sit V{rB,‘l crossed, sat

73, Mateh the following :

(a)
(i)
()
{d)

T4, Match the statementa given in Column A with their question tags in Column B and select the

Stimulate 1.
Blurt 5.
Impute 3.
Protract 4.

&

(@) b @ (@

i 1 2 3
s 4 1 2
2 1 4 3
3 4 5 1

correct answer from the codes given below :

(a)
(b)
(c)
(d}

(A)

S B
(€
D)

HLE12

He 15 good 1
They are friends 2
He is not good 3.
[ am not il 4,

(@ () (o) (d)

1 2 4 3
4 1 2 3
a 2 1 4
i§ 3 2 1

20

Disbelieve
Curtal
Courageous
Conceal

Pacufy

aren't they?
is he?
am [I7?

isn't he?
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HA.

Bé,

Choose the correct antonym for the underlined word from the options given :
All her efforts turned futile,

[A)  useless ﬁ uaeful
() harmful {0y peaceful

Match the correct suffix, for the given root word ‘cardic’.

(A} -ism (B) ~—ish

(C) -ment VLETq —gram

Find out the antonyms for the underlined word.

Raju had apparently changed his mind.

1. Obscure 2. Lucid

3.  Confused 4. Perplexed
&  lrrational

(A} 2,3 4and] (B) 3. 4andb

(C} 1.2 3and5 \-/LD}" 1,3 4and 6

Select the incorrect sentence from the following sentences.

(A} You met the actor who is the hero of this mavie

\./E} The bridge was damaged whom they were willing to et vight

BT.

(Cy T found my key which was missing

(I Thought the book which | saw 1n shap

Find out the parts of speech that are used in the underlined words,
1. You digtate the answer

2. Catch me if you can.

3. Heis an honest man.

4

He revealed the truth honestly,

{(A)  verb, noun and adjective (B} adjective, adverb and noun
\.’/{'Cj adverb, verb and adjective (I  noun, verb and adverb
A 23
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